
 

𝒘𝒙  =  
𝝏𝒇
𝝏𝒙

  =   
𝝏𝒇
𝝏𝒖

∙
𝝏𝒖
𝝏𝒙

+
𝝏𝒇
𝝏𝒗

∙
𝝏𝒗
𝝏𝒙

  =    
𝝏𝒇
𝝏𝒖

∙ 𝒙 +
𝝏𝒇
𝝏𝒗

∙ 𝒚  =    𝒇𝒖 ∙ 𝒙 + 𝒇𝒗 ∙ 𝒚 

𝒘𝒙𝒙 =
𝝏𝟐𝒇
𝝏𝒙𝟐

 =  
𝝏
𝝏𝒙

(𝒙 ∙ 𝒇𝒖 + 𝒚 ∙ 𝒇𝒗)  = 

=  
𝝏
𝝏𝒙

(𝒙 ∙ 𝒇𝒖) +
𝝏
𝝏𝒙

(𝒚 ∙ 𝒇𝒗)   =   𝟏 ∙ 𝒇𝒖 + 𝒙 ∙
𝝏
𝝏𝒙

𝒇𝒖 + 𝒚 ∙
𝝏
𝝏𝒙

𝒇𝒗 

 

𝒘𝒚  =  
𝝏𝒇
𝝏𝒚

  =   
𝝏𝒇
𝝏𝒖

∙
𝝏𝒖
𝝏𝒚

+
𝝏𝒇
𝝏𝒗

∙
𝝏𝒗
𝝏𝒚

  =    
𝝏𝒇
𝝏𝒖

∙ (−𝒚) +
𝝏𝒇
𝝏𝒗

∙ 𝒙  =    𝒇𝒖 ∙ (−𝒚) + 𝒇𝒗 ∙ 𝒙 

𝒘𝒚𝒚 =
𝝏𝟐𝒇
𝝏𝒚𝟐

 =  
𝝏
𝝏𝒚

(−𝒚 ∙ 𝒇𝒖 + 𝒙 ∙ 𝒇𝒗)  =  −  
𝝏
𝝏𝒚

(𝒚 ∙ 𝒇𝒖) +
𝝏
𝝏𝒚

(𝒙 ∙ 𝒇𝒗)  = 

  =  −�𝟏 ∙ 𝒇𝒖 + 𝒚 ∙
𝝏
𝝏𝒚

𝒇𝒖� + 𝒙 ∙
𝝏
𝝏𝒚

𝒇𝒗   =    −𝒇𝒖 − 𝒚 ∙
𝝏
𝝏𝒚

𝒇𝒖 + 𝒙 ∙
𝝏
𝝏𝒚

𝒇𝒗 

 

𝒘𝒙𝒙 + 𝒘𝒚𝒚  =    𝒇𝒖 + 𝒙 ∙
𝝏
𝝏𝒙

𝒇𝒖 + 𝒚 ∙
𝝏
𝝏𝒙

𝒇𝒗  − 𝒇𝒖 − 𝒚 ∙
𝝏
𝝏𝒚

𝒇𝒖 + 𝒙 ∙
𝝏
𝝏𝒚

𝒇𝒗   = 

=  𝒙 ∙
𝝏
𝝏𝒙

𝒇𝒖 + 𝒚 ∙
𝝏
𝝏𝒙

𝒇𝒗  − 𝒚 ∙
𝝏
𝝏𝒚

𝒇𝒖 + 𝒙 ∙
𝝏
𝝏𝒚

𝒇𝒗  = 

=  𝒙 �
𝝏
𝝏𝒙

𝒇𝒖 +
𝝏
𝝏𝒚

𝒇𝒗� + 𝒚 �
𝝏
𝝏𝒙

𝒇𝒗 −
𝝏
𝝏𝒚

𝒇𝒖� = ⋯ 

 
𝝏
𝝏𝒙

𝒇𝒖  =  
𝝏𝒇𝒖
𝝏𝒖

∙
𝝏𝒖
𝝏𝒙

 =  𝒇𝒖𝒖 ∙ 𝒙       ,       
𝝏
𝝏𝒙

𝒇𝒗  =  
𝝏𝒇𝒗
𝝏𝒗

∙
𝝏𝒗
𝝏𝒙

 =  𝒇𝒗𝒗 ∙ 𝒚 

𝝏
𝝏𝒚

𝒇𝒗  =  
𝝏𝒇𝒗
𝝏𝒗

∙
𝝏𝒗
𝝏𝒚

 =  𝒇𝒗𝒗 ∙ 𝒙       ,       
𝝏
𝝏𝒚

𝒇𝒖  =  
𝝏𝒇𝒖
𝝏𝒖

∙
𝝏𝒖
𝝏𝒚

 =  𝒇𝒖𝒖 ∙ (−𝒚) =  −𝒇𝒖𝒖 ∙ 𝒚 

 
… =  𝒙(𝒙𝒇𝒖𝒖 + 𝒙𝒇𝒗𝒗) + 𝒚(𝒚𝒇𝒗𝒗 + 𝒚𝒇𝒖𝒖)   =    𝒙𝟐(𝒇𝒖𝒖 + 𝒇𝒗𝒗) + 𝒚𝟐(𝒇𝒗𝒗 + 𝒇𝒖𝒖)  = 

=  (𝒙𝟐 + 𝒚𝟐)(𝒇𝒗𝒗 + 𝒇𝒖𝒖)  =  𝟎 

𝒖 =
𝒙𝟐 − 𝒚𝟐

𝟐
 =>   

𝝏𝒖
𝝏𝒙

= 𝒙   ,
𝝏𝒖
𝝏𝒚

= −𝒚  

,𝒗 = 𝒙𝒚   =>      
𝝏𝒗
𝝏𝒙

= 𝒚   ,
𝝏𝒗
𝝏𝒚

= 𝒙 


